ERAR—YREHMRFRRE SR

1 R7 S 1,200
SMRT7
ZmF — L S | RNEE| RINEEE | &
B F|&x F|E5 &

LT BRIDEHESFEFR 2.5 2.5 3,000 3,000
LT B IEHRESEFR 25| 25 3,000 3,000
LT BIER P S FEFR 45| 45 5,400 5,400
B R = R 5.0 5.0 6,000 6,000
EHE SR 30| 3.0 3,600 3,600
IR RIERCESEFR | 4.5 4.5 5,400 5,400
LT BAEB S EFR 1.0] 1.0 1,200 1,200
FBETILE —HFER 3.0 3.0 3,600 3,600
BT I — R 05] 05 600 600
FBHETILE ZPFER 1.0 7.0 8,400 8,400
BT IS = R 1.01 1.0 1,200 1,200
BRI =R 3.5 3.5 4,200 4,200
SEHETILE=FFR 35| 35 4,200 4,200
B T AL 3 P R AR 1.5 1.5 1,800 1,800
BT I MU R AR 20| 20 2,400 2,400
B T I BN 2.5 2.5 3,000 3,000
BRI NPFER 30| 3.0 3,600 3,600
B ™IS R R 1.01 10 1,200 1,200
WA BT 358 4/ HR AR 0.5 0.5 600 600
o) il 300 [ 220 | 52.0 | 62,400 0| 62400
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